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The series Yf has no trend and noise has

increased 1 mask
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The series I Yt has trend and is more volatile

as well 1 mark



Solution2 a is incorrect because simple moving average

assigns equal weight to all data points within the
window and not more weight to recent data points

1 mask

b is correct because ENMA assigns more weight

to recent observations making it moreresponsive to

recent changes in the time series compared to a

simple moving average 1mark

e is incorrect because a ma is a smoothing
technique that reduces noise and tends to smooth out

seasonality as well Especially when series has

strong seasonately it might not provide accurate

forecast I mark

d is incorrect as well with same reason as c 1 mark


